S E(sd])

HY/HIE olo|x|

=
E

ks

g2l e B

EM OfF2]:
%E 047'(-{E| al 04|:||.
23 o, AHE W A M3 R

e

ST B Yols 17 SolM SEHS0| LA ZHHOF BHLICH

x| C= 7HEEIX| b2 MEfo| 33E Tl Zo|§ HolgLict

x| C= 17 SolM Z5H2 S0l LA ZEHOF FLICt

28 ChEofl LEAH &I JE S Elof MEFsfoF BLiCt

2T B 0|8 HHHEIH 28 THS Ao FLICt

T E2 SHHE T ZO|Z 7HESHL LI, 9 tHE F il 2
Bl A2 238 Eol 28t &3

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



(allHl)

Al
ELY

i

ol

L

\ B

Ve

m. ) /./\- I m__,mf%
7

Hr
Hio

g E(sldl)

2u



S E(sd])

ES 29
FEHS A B @ D E F G H J K T 2
K0911.412100 12 12 100 18 23 38 6,5 M8 M8x8 215 7 K0911.506501
K0911.416100 12 16 100 24 23 38 6,5 M8 M8x8 215 7 K0911.506501
K0911.516120 16 16 120 24 29 48 95 M10 M10x10 28 9 K0911.638001
K0911.520120 16 20 120 30 29 48 95 M10 M10x10 28 9 K0911.638001

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



